A-AWET S=1/10

7 —7 L —2A « AS345 X v RV i T [¥]

7 ) —7 L — AN S=1/10

7T eH

(FM300% A )
n (%
o D13 ITe)
o o
N M
77 77 -
300
JEBHIX S=1/100
300 1700 300 1700 300 1700 300
F7 v h— 7)) =7 b—h
D19 L=800 \ - | ‘ | ‘ FM300
‘ ‘ i ___-E =t o
—_ - — 8- —0- — o — o
== [ ~
o |
=] \ ta {2t | S
S | -
_ | ] B
— e -—-——-—0— P ——o—0 LR ;I 0 0 . I (=]
! I 1"
S | 1. S
& \ \ \ =
| ' ! iIHn \ I
\ \ L____J)k L o
,7,7,77 77“‘. _;_1 i ° o c_} %
‘fﬂ’ﬁ)\l |\| \ iRt N D13
RiBhT > —
D13 L=500 FifL AR FEAA IR A
2000 2000 2000

JedEx v > 7 D25

A XA e 4

(PARTRSA D » = HDZT 77)

St A L s=1/5

ASA v ¥ < b D25N
(WSERASN D > X HDZT 49)

A XY vy —
(VSERASN D > X HDZT 49)

150

150

[CRATSES 7S]

K-1Z~2—H—D25-65 (BX A v )

SUS M8

~L¥ ¥ 7BC

KL a— 1360 g AV

oy s

4100

Yo

PR A L

SRR S=1/10

L%y v 7BC

ASA vy Fa~v) vy b

B diik4

(WARTESR D » = HDZT 49)

AvFNT oy —

(SERASN D > X HDZT 49)
A XA 4

(ETRSN D - X HDZT 77)

(LT )

[ o— 1l

B Rk Hifr | Hokt

i &

TY—=TL—A

F300(2,000X2,000) | m

AS345 A5 LR D25NT n .
Fehn¥ v v 7 D25 1 1

ASAyFa<Fyb D25N m | 1| wEdsgan o DT 49
K-1AR—F— D25-65 1 AWRDoF

K E > T2, 5m TR L2

A el RS

150150 X9 ($45) | 1

TSR > & HDZT 77

AyFSNT vy —  |§T4.5%25 | U | wEdigan - =  HDZT 49
¥y v TBC ¢ 100X 150 1 1 UL =t— R 360gA Y
ALY — R ¢ 45X 200 1l 1

Ly — A

(P

00

B TEAA R A

R

7)=7V=h
AS345 A v F RV D2BNT

¢ 32

200 _I

¢ 45

KLzt

Ty R

Ty Y—

Ny TT—

vy

Ho &

AyFxaw

Ay F)L

N

BC

PR AL




